ORDER OF MATH OPERATIONS WITH NUMBERS -100 TO 100 (E-2) Name:
CHALLENGE

Time:

233)

(0% (=5) x(=58)))) =+ 24 x (((0 x (=2)) x (=77)) x 10) + 38 — 89 =

234)

(((59 + (—44)) x 0)) + (334 50) -+ (34 + (~25)) + 3)) x (~2) — 10 =

235)

(9 x (—4)—33) —49 — (—=23)) x (((1 = (=87) = 16) — 72) = 42) =

236)

3% 24 (—16) — (((36 + (—100)) x (—1))) =10 x 0+ 5 x (—6) =

237)

(0= (=3)=178))) + (694 (=75)+26) x (63+(—9)) +3 x (=8) =

238)

(((5 = 40) x 0)) x (=82) + 7+ (=56) + 16 + 8 x (—2) x 10 =

239)

(Tx2—0+63) — (8 x7) x (12 + (—12)))) — (95 — 31) =

240)

(4+=7)+0+(—=7) = B14+(=71))) = ((0+9) x 10) = (—2)) =
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